REFERENCES

Thai

- จิระศักดิ์ กีรติกุณากร และ ไพฑูรย์ พิศุทธิ์สินธ์. 2544. คู่มือการตรวจสอบกวาวเครือ (Puraria cabdollei Grah. ex.Benth. var. mirifica (Airy Shaw & Suvat.) และทองเครือ (Butea superba Roxb.) ฝ่ายพันธุ์พืช กองควบกุมพืชและวัสคุการเกษตร กระทรวงเกษตรและสหกรณ์, กรุงเทพฯ. 38 หน้า
- ธนาธิป รักศิลป์. 2538. องค์ประกอบทางเคมีของหัวกวาวแดง Butea superba Roxb. วิทยานิพนธ์ ปริญญามหาบัณฑิต ภาควิชาเคมี คณะวิทยาศาสตร์ จุฬาลงกรณ์มหาวิทยาลัย.
- บรรจง เทียนส่งรัศมี. 2535. ชีววิทยาของกุ้งก้ามกราม. หลักการเลี้ยงกุ้งก้ามกราม. กรมประมง มหาวิทยาลัยเกษตรศาสตร์. 2-39 หน้า
- เปี่ยมศักดิ์ เมนะเศวต. 2542. **คู่มือการเพาะเลี้ยงกุ้งก้ามกราม.** สถาบันทรัพยากรทางน้ำ จุฬาลงกรณ์ มหาวิทยาลัย. 22 หน้า
- มะลี บุญยรัตผลิน นันทิยา อุ่นประเสิฐ และถาวร สินธุเสน. 2530. ศึกษาการใช้ฮอร์ โมนเพศผู้เปลี่ยนเพศ กุ้งก้ามกราม. รายงานประจำปี 2528-2530 สถาบันประมงน้ำจืดแห่งชาติ. 60 หน้า
- ยนต์ มุสิก. 2529. ชีววิทยาของกุ้งก้ามกราม. **การเพาะเลี้ยงกุ้งก้ามกราม.** กรมประมง มหาวิทยาลัยเกษตรศาสตร์ 5-16 หน้า

English

Abdu, U., Takac, P., Laufer, H. and Sagi, A. 1998. Effect of methyl farnesoate on the late larval development and metamorphosis in the prawn *Macrobrachium rosenbergii*

- (Decapoda, Palaemonidae): Ajuvenoid like effect? **Biological Bulletin.** 195: 112-119
- Antiporda, J.L. 1986. Preliminary studies on the effect of methyltestosterone on Macrobrachium rosenbergii juveniles. FAO Report NACA/WP/86/46. FAO, Rome.
- Awari, S.A. and Kiran, D. 1999. Histological and histochemical study of the androgenic gland of *Macrobrachium rosenbergii* (De Man). Journal of Aquaculture in Tropical. 14: 101-112.
- Balazs, G.H. and Ross, E. 1976. Effect of the protein source and level on growth and performance of captive freshwater prawn, *Macrobrachium rosenbergii*.

 Aquaculture. 7: 200-213
- Barki, A., Karplus, I. and Goren, M. 1992. Effects of size and morphotype on dominance hierarchies and resource competition in the freshwater prawn *Macrobrachium* rosenbergii. Animal Behaviour. 44:547-555
- Bell, T.A. and Lightner, D.V. 1988. A Handbook of Normal Penaeid Shrimp

 Histology. The world aquaculture society, Baton Rouge, Louisiana, USA.
- Brandis, D. 1990. Indian Trees. London: Archibald Constable & CO.,LTD
- Brody, T., Cohen D., Barnes, A. and Spector, A. 1980. Yield characteristics of *Macrobrachium rosenbergii* in temperated zone aquaculture. Aquaculture. 21: 375-385
- Bruyn, M., Wilson, J.A. and Mather, P.B. 2004. Huxley's line demarcrates extensive genetic divergence between eastern and western forms of giant freshwater prawn,

- Macrobrachium rosenbergii. Molecular Phylogenetics and Evolution. 30: 251-257
- Chang, C.F. and Shih, T.W. 1995. Reproductive cycle of ovarian development and vitellogenin profile in the freshwater prawn, *Macrobrachium rosenbergii*.

 Invertebrate Reproductive and Development. 27: 11-20
- Chansakawo, S., Ishikawa, T., Seki, H., Sekine, K. (nee Yoshizawa), Okada, M., Higuchi, Y. and Kudu, M. 2000. Isoflavonoid from *Pueraria mirifica* and their Estrogenic Activity. **Planta Medica**. 66: 572-575.
- Chantapreeda, S. 1998. Effects of 5-methoxyindole acetic acid, 5-hydroxytryptamine and continous darkness on growth and reproduction of *Macrobrachium rosenbergii* De Man. Master's thesis, Faculty of graduate studies, Mahidol University.
- Charniaux-cotton, H. and Payen, G. 1985. sexual differentiation. In D.E. Bliss and L.H. Mantel eds, The Biology of crustacean, vol.9: Integument, Pigments and Homonal Process. New York: Academic Press. 217-300.
- Chen, Y.N., Fan, H.F., Hsieh, S.L. and Kuo, C.M. 2003. Physiological involvement of DA in ovarian development of the freshwater giant prawn, *Macrobrachium rosenbergii*. Aquaculture. 228: 383-395
- Cherdshewasart, W. and Nimsakul, N. 2003. Clinical trial of *Butea superba*, an alternative herbal treatment for erectile dysfunction. **Asian Journal of Andrology.** 5(3) 243-246

- Cohen, D., Ra'anan, Z. and Brody, T. 1981. Population profile development and morphotype differentiation in the giant freshwater prawn *Macrobrachium* rosenbergii (de Man). Journal of the World Mariculture Society. 12: 231-243
- Cohen, D., Sagi, A. and Ra'anan, Z. 1988. The production of *Macrobrachium rosenbergii* in monosex populations. III. Yield characteristics under intensive monoculture conditions in earthen ponds. The Israeli Journal of Aquaculture-Bamidgeh. 40(2): 57-63
- D'Abramo, L.R., Robinette, H.R., Heinen, J.M., Ra'anan, Z. and Cohen, D. 1986. polyculture of freshwater prawn (*Macrobrachium rosenbergii*) with a mixed size population of channel catfish (*Ictalurus punctatus*). Aquaculture. 59: 71-80
- FAO. 2001. Fishery statistics: aquaculture production 1992-2001. FAO Year Book
 Fishery Statistics. Vol 92/2
- FAO. 2002. Farming freshwater prawns: a manual for the culture of the giant river prawn (Macrobrachium rosenbergii). FAO Fisheries Technical Paper 428. Rome
- Foster, J.R.M. and Beard, T.W. 1974. Experiment to assess the suitability of nine species of prawns for intensive cultivation. **Aquaculture.** 3: 355-368
- Fujimura, T. and Okamoto, H. 1972. Notes on progress made in developing a mass culturing technique for *Macrobrachium rosenbergii* in Hawaii. **In coastal Aquaculture in the Indo-Pacific Region**, (Ed. By T.V.R. Pillay). Fishing News Books, Oxford, England, Blackwell Science. 313-327.
- Harpaz, S. 1997. Enhancement of growth in juvenile freshwater prawns *Macrobrachium* rosenbergii, through the use of a chemoattractant. **Aquaculture.** 156: 221-227

- Homola, E. and Chang, E.S. 1997. Methyl farnesonate: Crustacean juvenile hormone in search of functions. Comparative Biochemical and Physiology. Vol. 117B: 347-356
- Holtuis, L.B. 1980. FAO species catalogue. Vol. I. Shrimps and prawns of the world (an annoted catalogue of species of interest to fisheries). FAO Fisheries Synopses No.125 Vol. 1. Rome.
- Holtuis, L.B. 2000. Nomenclature and taxonomy. In M.B. New and W.C. Valenti, eds,

 Freshwater prawn culture: the farming of *Macrobrachium rosenbergii*.

 Oxford, England, Blackwell Science: 12-17.
- Hulata, G., Karplus, I., Wohlfarth, G.W., Halevy, A., Cohen, D., Sagi, A. and Ra'anan, Z. 1988. The production of *Macrobrachium rosenbergii* in monosex populations. II Yield characteristics in polyculture ponds. **Israeli Journal of Aquaculture-Bamidgeh.** 40:9-16
- Ismael, D. and New, M.B. 2000. Biology. In M.B. New and W.C. Valenti, eds,

 Freshwater prawn culture: the farming of *Macrobrachium rosenbergii*.

 Oxford, England, Blackwell Science: 18-40
- Karplus, I., Hulata. G., Wohlfarth, G.W. and Halevy, A. 1986. The effect of density of Macrobrachium rosenbergii raised in earthen ponds on their population structure and weight distribution. Aquaculture. 52: 307-320
- Karplus, I., Melacha, S.R. and Sagi, A. 2000. The biology and management of size variation. In M.B. New and W.C. Valenti, eds, Freshwater prawn culture: the farming of Macrobrachium rosenbergii. Oxford, England: Blackwell Science. 259-289

- Ketsuwan, A., Malaivijitnond, S. and Wattanasirmkit, K. 2002. Effect of *Butea superba* on serum testosterone levels and reproductive organs in adult normal male rats.

 Program and abstracts: 7th Biological Science Graduate Congress, Faculty of Science, Chulalongkorn University, Bangkok, Thailand, 9-11 December 2002, 86.
- Kruz, Z. 1877. Forest Flora of British Burma Vol. 1. Calcutta. Office of the superintendent of government printing.
- Kuris, A.M., Ra'anan, Z., Sagi, A. and Cohen, D. 1987. Morphotypic differentiation of male Malaysian prawns, *Macrobrachium rosenbergii*. Journal of Crustacean Biology. 7(2): 219-237
- Laufer, H and Biggers, W. 2001. Unifying concepts learned from methyl farnesoate for invertebrate reproduction and post-embryonic development. American zoologist. 2001: 442-457
- Lee, F.Y. and Chang C.F. 1997. The concentration of vitellogenin (vitellin) and protein in hemolymph, ovary and hepatopancreas in different ovarian stages of the freshwater prawn, *Macrobrachium rosenbergii*. Comparative Biochemical Physiology. 117A(4): 433-439
- Lin, C.K. and Boonyaratpalin, M. 1988. An analysis of biological characteristics of Macrobrachium rosenbergii (De Man) in relation to pond production and marketing in Thailand. Aquaculture. 74: 205-215
- Ling, S.W. 1969. The general biology and development of *Macrobrachium rosenbergii* (de Man). **FAO Fisheries Report.** 57(3): 589-606

- Melacha, S.R., Masuno, S. and Onizuka, D. 1984. The feasibility of measuring the heritability of growth pattern variation in juvenile freshwater prawns, *Macrobrachium rosenbergii* (de Man). **Aquaculture.** 38: 347-363
- Melacha, S.R., Nevin, P.A., Ha, P., Barck, L. E., Lamadrid-Rose, Y., Masuno, S. and Hedgecock, D. 1992. Sex-ratios and sex-determination in progeny from crosses of surgically sex-reversed freshwater prawns, *Macrobrachium rosenbergii*.
 Aquaculture. 105: 201-218
- Nagamine, C.M. and Knight, A.W. 1980. Development, maturation, and function of some sexually dimorphic structures of the Malaysian prawn, *Macrobrachium rosenbergii* (de Man) (Decapoda, Palaemonidae). Crustaceana. 39: 141-152
- Nagamine, C., Knight, A.W., Maggenti, A., and Paxman, G. 1980a. Effects of androgenic gland ablation on male primary and secondary sexual characteristics in the Malasian prawn, *Macrobrachium rosenbergii* (De Man) (Decapoda, Palaemonidae). **General Comparative and Endocrinology.** 41: 423-441.
- Nagamine, C., Knight, W A., Maggenti, A. and Paxman, G. 1980b. Masculinization of female *Macrobrachium rosenbergii* (De Man) (Decapoda, Palaemonidae) by androgenioc implantation. **General Comparative and Endocrinology.** 41:442-457.
- New, M.B. and Singholka, S. 1985. Freshwater prawns farming: a manual for the culture of *Macrobrachium rosenbergii*. **FAO Fisheries Technical Paper** 225 (Rev1). FAO. Rome.

- New, M.B. 1988. Freshwater prawns: status of global aquaculture,1987. NACA

 Technical Manual No.6. A world food day publication of the network of
 aquaculture centres in Asia. Bangkok, Thailand. 58.
- O'donovan, P., Abraham, M. and Cohen, D. 1984. The ovarian cycle during the intermoult in ovigerous *Macrobrachium rosenbergii*. Aquaculture. 36: 347-358
- Piyatiratitivorakul, P., Piyatiratitivorakul, S., Ditsayaboot, P. and Thienwichai, W. 1996. effects of steroid sapogenins on growth and molting of the giant freshwater prawn *Macrobrachium rosenbergii* (De Man). **Journal of the Science Society of Thailand.** 22: 227-236
- Ra'anan, Z. and Cohen, D. 1984. Characterization of size distribution development in the freshwater prawn *Macrobrachium rosenbergii* (De Man) juvenile populations.
 Crustaceana. 46: 271-282
- Ra'anan, Z. and Cohen, D. 1985. The ontogeny of social structure and population dynamics in the freshwater prawn *Macrobrachium rosenbergii* (De Man). In F.M. Schram and A. Wenner, eds. Crustacean Issue II: Crustacean Growth. Balkema, Rotterdam. 277-311
- Ra'anan, Z. and Sagi, A. 1985. Alternative mating strategies in male morphotypes of the freshwater prawn *Macrobrachium rosenbergii* (DE MAN). **Biological Bulletin.** 169: 592-601
- Ra'anan, Z. 1987. Maturation and growth in males and females of freshwater prawn

 Macrobrachium rosenbergii description of pattern and implications to

 aquacultural practices. Journal of the World Aquaculture Society. 18 (1): 33A

- Ra'anan, Z., Sagi, A., Wax, Y., Karplus, I., Hulata, G. and Kuris, A. 1991. Growth, size rank and maturation of the freshwater prawn, *Macrobrachium rosenbergii*: analysis of marked prawns in an experimental population. **Biological Bulletin.** 181:379-386
- Ranjeet, K. and Kurup, B.M. 2002. Heterogenous individual growth of *Macrobrachium* rosenbergii male morphotypes. Naga, The ICLARM Quarterly. 25(2): 13-18
- Rao, R.M. 1965. Breeding behaviour in *Macrobrachium rosenbergii* (de Man). Fishery

 Technology. 2(1): 19-25
- Roengsumran, S., Petrsom, A., Ngamrojanavanich, N., Pungsilp, T., Sittiwicheanwong, p., Khorphueng, P., Cherdshewasart, W. and Chaichantipyuth, C. 2000. Flavonoid and flavonoid glycoside from *Butea superba* and their cAMP phosphodiesterase inhibitory activity. **Journal of Science Research of Chulalongkorn**Univiversity. No. 1: 170-176
- Roengsumran, S., Sookkongwaree, K., Petrsom, A., Pornpakakul, S. and Sangvanich, 2001.

 Cyclic AMP phosphodiesterase inhibitor from tubers of *Mucuna collettii Lace*.

 27th Congress on science and technology of Thailand, 184
- Sagi, A., Ra'anan, Z., Cohen, Z. and Wax, Y. 1986. Production of *Macrobrachium rosenbergii* in monosex populations: yield characteristics under intensive monoculture conditions in cages. **Aquaculture.** 51: 265-275
- Sagi, A. and Ra'anan, Z. 1988. Morphotypic differentiation of the male of the freshwater prawn *Macrobrachium rosenbergii*: changes in the midgut glands and the reproductive system. **Journal of the Crustacean Biology.** 8(1): 43-47

- Sagi, A. 1988. The androgenic gland in crustacean-with emphasis on the cultured freshwater prawn *Macrobrachium rosenbergii*-a review. Israeli Journal of Aquaculture (Bamidgeh). 40: 9-16
- Sagi, A. and Cohen, D. 1990. Growth, maturation and progeny of sex-reversed Macrobrachium rosenbergii males. World Aquaculture. 21(4): 87-90
- Sagi, A., Homola, E. and Laufer, H. 1991. Methyl farnesoate in the prawn Macrobrachium rosenbergii: Synthesis by the mandibular organ in vitro, and titres in the hemolymph. Comparative Biochemical and physiology. Vol.99B: 879-882
- Sagi, A. and Khalaila, I. 2001. The crustacean androgen: a hormone in an isopod and androgenic activity in decapod. American Zoologist. 41(3): 477-484.
- Siddiqui, A.Q., Al-Hinty, H.M. and Ali, S.A. 1995. Effects of harvesting methods on population structure, growth and yield of freshwater prawn, *Macrobrachium rosenbergii* (De Man), cultured at to densities. **Journal of Applied Aquaculture.** 5: 9-19
- Skinner, D.M. 1985. Molting and regeneration. In D.E. Bliss and L.H. Mantel eds,. The Biology of crustacean, vol.9: Integument, Pigments and Homonal Process.

 New York: Academic Press. 43-146
- Smith, T.I.J., Sandifer, P.A. and smith, M.H. 1978. Population structure of Malaysian prawn, *Macrobrachium rosenbergii* (De Man) reared in earthen ponds in South Carolina, 1974-1976. **Proceeding of the World Mariculture Society.** 9: 21-38
- Smith, C.A. and Wood, E.J. 1992. Molecular and Cell Biochemistry: Cell Biology.

 Champman&Hall. 209-212

- Tsukimura, B. 2001. Crustacean vitellogenesis: Its role in oocyte development.

 American Zoologist. 41(3): 465-476
- Tsukimura, B. and Kamemoto, F.I., 1991. in vitro stimulation of oocytes by presumative mandibular organ secretions in the shrimp *Penaeus vannamei*. **Aquaculture.** 92: 59-62
- Wainwright, G., Webster, S.G. and Rees, H.H. 1999. Involvement of adenosine 3', 5'cyclic monophosphate in the signal transduction pathway of mandibular organinhibiting hormone of the edible crab, Cancer pagurus. Molecular and Cellular
 Endrocrinology. 154: 55-62
- Wickins, J.F. 1972. Experiment in the culture of spot prawn *Pandalus platyceros* (Brandt) and giant freshwater prawn *Macrobrachium rosenbergii* (De Man). Fisheriy Investigation Series2. 27(5): 1-23
- Wickins, J.F. and Beard, T.W. 1974. Observations on the breeding and growth of the giant freshwater prawn *Macrobrachium rosenbergii* (De Man) in the laboratory.

 Aquaculture. 3: 159-174
- Wilder, M.N., Okada, S., Fusetani, N. and Aida, K. 1995. Hemolymph profiles of juvenoid substances in the giant freshwater prawn *Macrobrachium rosenbergii* in relation to reproduction and molting. **Fisheries Sciences.** 61: 175-176
- Yavada, R.N. and Reddy, K.I.S. 1998. A novel flavone glycoside from the stems of *Butea superba*. **Fitoterapia.** Vol.LXIX, No. 3: 269-270

APPENDICES

ศูนย์วิทยทรัพยากร จุฬาลงกรณ์มหาวิทยาลัย

APPENDIX A

PROXIMATE ANALYSIS (AOAC, 1995)

- 1. Protein analysis
- 1.1 Apparatus
- Kjeldahl flask
- Gerhardt Kjeldahl digestion unit
- Gerhardt vapodast 1
- 1.2 Reagent
- 50% NaOH
- 4% Boric acid
- Anhydrous sodium carbonate
- Bromocresol green
- Methyl red
- 95% Methanol
- Conc. Sulfuric acid
- Conc. Hydrochloric acid
- Catalysts (7 g $K_2SO_4 + 0.8$ g $CuSO_4.5H_2O$)
- Distilled water

1.3 Determination

1.3.1 Reagent preparation

- Sodiumhydroxide solution: $400~{\rm g}$ of NaOH were dissolved in water and diluted to 1,000 ml
 - Sodiumhydroxide solution 1 mol/l
 - Sodiumhydroxide solution 0.1 mol/l
- Bromocresol green solution: 0.1 g of Bromocresol green were dissolved in the 100 ml of ethanol
 - Methyl red solution: 0.1 g Methyl red was dissolved in 100 ml of ethanol
- Mixed indicator solution: 0.1 g of Bromocresol green and Methyl red was dissolved in 100 ml of ethanol
- Boric acid solution: 400 g of Boric acid was dissolved in approximately 6 L of distilled water then boil on hot plate, swirled till completely dissolving. The solution was adjusted to 9 L with hot distilled water. The solution was allowed to cool to the room temperature. Then the 100 ml of Bromocresol green solution and 70 ml of methyl red solution were added respectively. The solution was added to 10 L with distilled water and swirl to mix. Twenty five ml of Boric acid solution was pipetted in flask and then added with 100 ml of distilled water. The solution was titrated with 0.1 mol/l NaOH until the color changed to red-violet. Calculate the amount of used 1 mol/l NaOH for 10 L by criteria following:

ml of 1 mol/l NaOH = ml of mol/l NaOH

The amount of 1 mol/l NaOH was added into Boric acid solution and swirled well.

- Hydrochloric acid, 0.1 mol/l HCl, standardized

Eight point two ml of conc.HCl was pipetted and diluted with distilled water to 1,000 ml

Standardized: 5 g of anhydrous Na₂CO₃ was grinded, dried at 265 °C for 1 hr or at 200 °C for 2 hrs and allowed to cool in desiccator.

Point thirteen g of dried Na₂CO₃ was added into a flask and the 20 ml of distilled water was added. Five drops of indicator was mixed and then titrated with hydrochloric acid solution until color changed to pink. The amount of used HCl (A1) was recorded. The flask was removed into the water bath and boiled for 2-3 minutes. The flask was cooled to the room temperature (violet solution) then the solution was titrated with hydrochloric acid until the color changed to pink. The amount of used HCl (A2) was recorded. Calculate for concentration of HCl solution by the following equation.

HCl mol/l = $\frac{2000 \text{ x exactly weight of Na}_2\text{CO}_3}{(\text{A}_1+\text{A}_2) \text{ x MW of Na}_2\text{CO}_3}$

1.3.2 Analysis of protein

Two grams of sample was addedinto a digestion tube. Seven grams of catalyst and the 10-15 ml of conc. H₂SO₄ were added respectively. The digestion tube was transferred to the Kjeldahltherm at 420 °C until the solution was cleared then removed from the digester and allowed to cool. A flask containing 25 ml of 4% Boric acid and the digestion

tube were transferred into a distillator (Vapodest 1). The solution was titrated with standardized HCl until the solution turned to pink.

1.4 Calculation

Let

f = 6.25 for general factor

Then

%N = 14.001x[HCl]x(volume of HCl with sample-volume of HCl with blank)x100Weight of sample (mg)

% Protein = % N x f

- 2. Fat analysis
- 2.1 Apparatus
- Soxtherm automatic 8-11, Garhardt
- Desiccator
- 2.2 Determination

The extraction beaker was dried in hot air oven, preheating 100 °C for 1-2 hrs. The flask was cooled in a desiccator at room temperature and weighed. The process was repeated until the results of two successive weightings did not differ by more than 1 mg. The least weight of beaker (X) was record. The dried sample was grinded and weighed for approximately 2 g, wraped in a filter paper Whatman no. 1 and placed in a thimble. In the extraction beaker, the thimble was placed and 75 ml of petroleum ether was added. The extraction beaker was then connected with the soxtherm automatic. Switched the machine on and extract for 6 hrs. The thimble was removed from the extraction beaker

and the petroleum ether was evaporated to dryness at 120 °C for 1 hr. The beaker was cooled in the desiccator and weighed (Y)

2.3 Calculation

Let

W = Weight (g) of dried sample

Y = Weight (g) of the beaker and extracted sample

X = Weight(g) of the beaker

Then

Total fat (%) =
$$\frac{100 \text{ (X-Y)}}{\text{W}}$$

- 3. Ash analysis
- 3.1 Apparatus
- Porcelain crucible
- Furnace (Carbolite, model EML 11/2 serial no. 11/86/1468, Bandford, Sheffield, England)
- Desiccator
- Hot plate
- 3.2 Determination

A porcelain crucible was placed into the temperature-controlled furnace, preheated to 600 ± 20 °C for 1 hour then transferred directly to desiccator for cooling and weighed immediately. The crucible was re-ignited for 30 minutes; cool into the desiccator and weighed (W). This process was repeated until the results of two successive

weightings did not differ by more than 1 mg. Five grams (W1) of sample was added into the crucible. Then it was placed on the hot plate under a fume-hood and slowly increased the temperature until the smoking ceased. The crucible was placed inside the furnace at 600 ± 20 °C for 2-3 hours till the sample became thoroughly ash. Then the crucible was removed from the desiccator to cool and weighed (W2).

3.3 Calculation

Let

W = Weight (g) of porcelain crucible

W1 = Weight(g) of sample

W2 = Weight (g) of crucible and sample

Then

Ash (%) =
$$\frac{100 \text{ (W2-W1)}}{\text{W1}}$$

- 4. Fiber analysis
- 4.1 Apparatus
- Digestion apparatus: with condenser to fit 600 ml beaker
- Filtration apparatus: filter paper no.1 and no.42
- Gooch crucible of alundum crucible R-98
- Desiccator
- Oven
- Furnace (Carbolite, model EML 11/2 serial no. 11/86/1468, Bandford, Sheffield, England)

4.2 Determination

Two point five of dried samples were transferred into a 600 ml beaker. Two hundred ml of boiling 0.225 N sulfuric acid were added into the beaker and then placed on a digestion apparatus, allowed to heat till 30 minutes. The solution was then filtered through a filter paper no.1 using suction and then washed with the hot water (approximately 200 ml) until acid-free. The filter paper containing all insoluble matter was placed to the beaker. The 200 ml of boiling 0.313 N NaOH was added into the beaker and then the beaker was placed on the digestion apparatus, heated till 30 minutes. The solution was once filtrated through the filter paper no.42 using suction and then washed with hot water (approximately 200 ml) until base-free. The paper was washed with 10 ml 95% ethanol and then removed to a crucible and dried for 2 hrs in oven at 105-110 °C. The crucible was cooled in a desiccator, weighed and re-dried for 30 minutes until the results of two successive weighing did not more than 1 mg. The least weight (W1) was recorded. The crucible with containing fiber was ignited in the furnace 30 minute at 600 ± 15 °C, cooled in the desiccator and weighed. The crucible was re-ignited 30 minutes until the results of two successive weighing did not more than 1 mg. The least weight (W2) was weighed.

4.3 Calculation

Let

W = Weight(g) of sample

W1 = Weight (g) of crucible and insoluble matter

W2 = Weight(g) of crucible and ash

Then

% Crude fiber = $\underline{100 \text{ (W1- W2- filter paper weight)}}$ W

- 5. Moisture content analysis
- 5.1 Apparatus
- Hot air oven
- Desiccator
- Porcelain crucible
- 5.2 Determination

Porcelain crucible was dried at 120 °C in hot air oven for 1 hr, cooled in desiccator and weighed (W1). Two grams of sample (W) were weighed in the crucible. The crucible was then dried in hot air oven 120 °C for 4 hrs. The crucible was cooled in desiccator and weighed (W2).

5.3 Calculation

Let

W = Weight(g) of sample

W1 = Weight (g) of crucible and sample

W2 = Weight (g) of crucible and dried sample

Then

% Moisture content = $\underline{100 \text{ (W1 - W2)}}$

APPENDIX B

DAVIDSON'S FIXATIVE

Davidson's fixative (Bell and Lightner, 1988) was made as such:

- 1. 330 ml 95% ethyl alcohol
- 2. 220 ml of 100% formalin (saturate aqueous solution of formaldehyde gas, 37-39% solution)
 - 3. 115 ml of glacial acetic acid
 - 4. 335 ml of distilled water

Store at room temperature

APPENDIX C

STATISTICAL ANALYSIS

Table 1C. Analysis of variance of proximate analysis in 4 experimental diets.

	Source	Sum of Squares	df	Mean Square	F	Sig.
Protein	Between Groups	0.844	3	0.281	2.608	0.189
	Within Groups	0.432	4	0.108		
	Total	1.276	7			
Lipid	Between Groups	2.607	3	0.869	150.494	0.000
	Within Groups	0.023	4	0.006		
	Total	2.630	7			
Ash	Between Groups	0.395	3	0.132	2.562	0.193
	Within Groups	0.205	4	0.051		
	Total	0.600	7			
Moisture	Between Groups	3.917	3	1.306	54.722	0.001
	Within Groups	0.095	4	0.024		
	Total	4.013	7			
Fiber	Between Groups	1.273	3	0.424	2.675	0.183
	Within Groups	0.634	4	0.159		
	Total	1.907	7			

Table 2C. Duncan multiple's range test of lipid content in 4 experimental diets.

ล ขา กล เข		Subset for alpha $= .05$			
Treatments	N	a	b	c	
В	2	8.0700			
A	2	8.1750			
D	2		8.4450		
C	2			9.5100	
Sig.		0.239	1.0000	1.0000	

Table 3C. Duncan's new multiple range test of moisture content in 4 experimental diets.

		Subset for alpha = .05		
Treatments	N	a	b	
С	2	6.42		
D	2	6.6		
В	2		7.665	
A	2		8.08	
Sig.		0.309	0.055	

Table 4C. Analysis of variance of body weight of *M. rosenbergii* in the period of 16 weeks.

	Source	Sum of Squares	df	Mean Square	F	Sig.
week4	Between Groups	0.278	3	0.093	2.640	0.049
	Within Groups	13.901	396	0.035		
	Total	14.179	399			
week8	Between Groups	0.711	3	0.237	0.221	0.882
	Within Groups	424.699	396	1.072		
	Total	425.410	399			
week12	Between Groups	58.318	3	19.439	2.886	0.036
	Within Groups	2667.712	396	6.737		
	Total	2726.030	399			
week16	Between Groups	92.540	3	30.847	1.672	0.172
	Within Groups	7305.707	396	18.449		,
	Total	7398.248	399			

Table 5C. Duncan's new multiple range test of body weight of *M. rosenbergii* in the fourth week.

		Subset for alpha $= .03$		
Treatments	N	a	b	
A	100	0.270		
В	100	0.308	0.308	
C	100		0.329	
D	100		0.338	
Sig.		0.149	0.284	

Table 6C. Duncan's new multiple range test of body weight of *M. rosenbergii* in the twelfth week.

		Subset for alpha = .05		
Treatments	N	a	b	
C	100	4.506		
D	100	4.824	4.824	
В	100	(0)	5.328	
A	100		5.451	
Sig.		0.386	0.108	

Table 7C. Analysis of variance of body weight of M. rosenbergii in the twentieth week.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	656.636	3	218.879	7.307	0.000
Within Groups	30133.417	1006	29.954		
Total	30790.053	1009			

Table 8C. Duncan's new multiple range test of body weight of *M. rosenbergii* in the twentieth week.

		Subset for alpha $= .05$		
Treatments	N	a	b	
C	239	10.722		
D	243	10.964		
A	273		12.101	
В	255		12.699	
Sig.		0.619	0.220	

Table 9C. Analysis of variance of body length of *M. rosenbergii* in the period of 16 weeks.

		Sum of		Mean		
	Source	Squares	df	Square	F	Sig.
week4	Between Groups	2.415	3	0.805	3.489	0.016
	Within Groups	91.384	396	0.231		
	Total	93.799	399			
week8	Between Groups	0.815	3	0.272	0.487	0.692
	Within Groups	221.083	396	0.558		
	Total	221.898	399			
week12	Between Groups	11.005	3	3.668	4.517	0.004
	Within Groups	321.634	396	0.812		
	Total	332.639	399			
week16	Between Groups	6.256	3	2.085	1.841	0.139
	Within Groups	448.446	396	1.132		
	Total	454.702	399			

Table 10C. Duncan's new multiple range test of body length of M. rosenbergii in the fourth week.

		Subset for alpha = .05		
Treatments	N	a	b	
A	100	2.532		
В	100	2.637	2.637	
C	100		2.700	
D	100		2.737	
Sig.		0.123	0.167	

Table 11C. Duncan's new multiple range test of body length of *M. rosenbergii* in the twelfth week.

		Sul	Subset for alpha = .05		
Treatments	N	a	b	С	
C	100	5.680			
D	100	5.698	5.698		
В	100	12/2/2/2	5.946	5.946	
A	100	A COLOREST AND ASSESSMENT		6.071	
Sig.		0.888	0.052	0.327	

Table 12C. Analysis of variance of body length of M. rosenbergii in the twentieth week.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	35.870	3	11.957	8.771	0.000
Within Groups	1371.358	1006	1.363		
Total	1407.229	1009			

Table 13C. Duncan's new multiple range test of body length of *M. rosenbergii* in the twentieth week.

		Subset for	Subset for alpha $= .05$		
Treatments	N	a	b		
C	239	7.616			
D	243	7.745			
В	273		7.995		
A	255	la l	8.091		
Sig.		0.217	0.354		

Table 14C. Analysis of variance of body weight of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	823.850	7	117.693	3.935	0.000
Within Groups	29966.203	1002	29.906		
Total	30790.053	1009			

Table 15C. Duncan's new multiple range test of body weight of male and female M. rosenbergii at the end pf the experiment.

		Subset for	alpha = .05
Treatments	N	a	b
C, male	119	10.129	
D, male	126	10.429	
C, female	120	11.309	11.309
D, female	117	11.541	11.541
B, male	143	9 9/1 8/19	11.973
B, female	130	d ND II	12.243
A, male	147		12.592
A, female	108	110000	12.845
Sig.	19999	0.062	0.051

Table 16C. Analysis of variance of body length of male *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	64.636	7	9.234	6.891	0.000
Within Groups	1342.592	1002	1.340		
Total	1407.229	1009			

Table 17C. Duncan's new multiple range test of body length of male and female M. rosenbergii at the end of the experiment.

Treatments			Subset for	alpha = .05	
	N	a	b	С	d
C, male	119	7.408			
D, male	126	7.573	7.573		
C, female	120	1611	7.823	7.823	
B, male	143	10000	7.871	7.871	
D, female	117	5 1000		7.930	
A, male	147	Malalack		7.958	
B, female	130	A STATE OF THE STA		8.130	8.130
A, female	108	Carlo Carlo Carlo			8.272
Sig.		0.259	0.053	0.061	0.331

Table 18C. Analysis of variance of the extension of the first segment of the abdomen of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	291.768	7	41.681	8.052	0.000
Within Groups	5181.927	1001	5.177		
Total	5473.695	1008			

Table 19C. Duncan's new multiple range test of the extension of the first segment of the abdomen of male and female *M. rosenbergii* at the end of the experiment.

			Subset for alpha $= .05$		
Treatments	N	a	b	С	d
C, male	119	12.429			
D, male	126	12.760	12.760		
B, female	120		13.166	13.166	
B, male	143		13.306	13.306	
A, male	146			13.385	
D, female	117	0 6		13.408	
C, female	130				14.010
A, female	108				14.241
Sig.		0.252	0.072	0.452	0.424

Table 20C. Analysis of variance of the Propodus length of male and female of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	29.463	7	4.209	7.246	0.000
Within Groups	582.039	1002	0.581		
Total	611.502	1009			



Table 21C. Duncan's new multiple range test of Propodus length of male and female of male and female *M. rosenbergii* at the end of the experiment.

		Su	Subset for alpha = .05				
Treatments	N	a	b	С			
C, female	120	2.254					
D, male	126	2.289					
D, female	117	2.343	2.343				
C, male	119	2.346	2.346				
A, female	108		2.531	2.531			
B, female	130			2.594			
B, male	143			2.671			
A, male	147			2.702			
Sig.		0.392	0.064	0.107			

Table 22C. Analysis of variance of the carpus length of male and female of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	14.787	7	2.112	6.831	0.000
Within Groups	309.854	1002	0.309		
Total	324.641	1009			



Table 23C. Duncan's new multiple range test of carpus length of male and female of male and female *M. rosenbergii* at the end of the experiment.

	N	Su	Subset for alpha $= .05$			
Treatments		a	b	С		
D, male	126	1.414				
C, male	119	1.441				
C, female	120	1.480				
D, female	117	1.526	1.526			
A, female	108		1.627	1.627		
B, male	143		1.653	1.653		
B, female	130			1.687		
A, male	147			1.765		
Sig.		0.148	0.089	0.073		

Table 24C. Analysis of variance of the merus and ichium length of male and female of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	107.366	7	15.338	12.995	0.000
Within Groups	1182.663	1002	1.180		
Total	1290.030	1009			



Table 25C. Duncan's new multiple range test of merus and ichium length of male and female of male and female *M. rosenbergii* at the end of the experiment.

		Su	bset for alpha =	.05
Treatments	N	a	b	С
C, female	120	1.921		
D, female	117	2.012	2.012	
D, male	126	2.190	2.190	
A, female	108	2.196	2.196	
C, male	119		2.245	
B, female	130		2.248	
B, male	143			2.769
A, male	147			2.863
Sig.		0.067	0.129	0.497

Table 26C. Analysis of variance of the total claw length of male and female of male and female *M. rosenbergii* at the end of the experiment.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	344.497	7	49.214	9.176	0.000
Within Groups	5374.007	1002	5.363		
Total	5718.505	1009			



Table 27C. Duncan's new multiple range test of total claw length of male and female of male and female *M. rosenbergii* at the end of the experiment.

			Subs	et for alpha	= .05	
Treatments	N	a	b	С	d	e
C, female	120	5.655				
D, female	117	5.881	5.881			
D, male	126	5.893	5.893			
C, male	119	6.032	6.032	6.032		
A, female	108		6.355	6.355		
B, female	130			6.528	6.528	
B, male	143				7.093	7.093
A, male	147					7.329
Sig.		0.246	0.143	0.110	0.054	0.420

ศูนย์วิทยทรัพยากร จุฬาลงกรณ์มหาวิทยาลัย

Table 28C. Analysis of variance of the growth rate (weight basis) of *M. rosenbergii* in the period of 20 weeks.

	Source	Sum of Squares	df	Mean Square	F	Sig.
week4	Between Groups	8E-06	3	2.66667E-06	0.234	0.871
	Within Groups	0.000182	16	0.000011375		
	Total	0.00019	19			
week8	Between Groups	7.615E-05	3	2.53833E-05	0.076	0.972
	Within Groups	0.0053196	16	0.000332475		
	Total	0.00539575	19			
week12	Between Groups	0.0028314	3	0.0009438	0.470	0.707
	Within Groups	0.0321108	16	0.002006925		
	Total	0.0349422	19			
week16	Between Groups	0.0006844	3	0.000228133	0.094	0.962
	Within Groups	0.0387548	16	0.002422175		
	Total	0.0394392	19			
	Between					
week20	Groups	0.0031828	3	0.001060933	0.614	0.616
	Within Groups	0.0276664	16	0.00172915		
	Total	0.0308492	19			

ศูนย์วิทยทรัพยากร จุฬาลงกรณ์มหาวิทยาลัย

Table 29C. Analysis of variance of the growth rate (length basis) of *M. rosenbergii* in the period of 20 weeks.

	Source	Sum of Squares	df	Mean Square	F	Sig.
week 4	Between Groups	0.015	3	0.005	0.752	0.537
	Within Groups	0.109	16	0.007		
	Total	0.124	19			
week 8	Between Groups	0.030	3	0.010	1.222	0.334
	Within Groups	0.130	16	0.008		
	Total	0.160	19			
week 12	Between Groups	0.037	3	0.012	0.917	0.455
	Within Groups	0.215	16	0.013		
	Total	0.251	19			
week 16	Between Groups	0.005	3	0.002	0.200	0.895
	Within Groups	0.137	16	0.009		
v	Total	0.142	19			
week 20	Between Groups	0.033	3	0.011	1.581	0.233
	Within Groups	0.112	16	0.007		
	Total	0.145	19			

Table 30C. Chi-square analysis of sex ratio M. rosenbergii at harvest.

	Α	В	С	D
Chi-Square ^{a,b,c,d}	5.965	1.664	0.004	0.004
df	100			1
Asymp. Sig.	0.015	0.197	0.948	0.950

^aO cells (.0%) have expected frequencies less than 5.

The minimum expected cell frequency is 127.5.

^b0 cells (.0%) have expected frequencies less than 5.

The minimum expected cell frequency is 132.5.

^{°0} cells (.0%) have expected frequencies less than 5.

The minimum expected cell frequency is 119.5.

^d0 cells (.0%) have expected frequencies less than 5.

The minimum expected cell frequency is 125.5.

Table 31C. Analysis of variance of total weight *M. rosenbergii* in the period of 20 weeks.

Source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	87950.061	3	29316.687	1.281	0.315
Within Groups	366124.505	16	22882.782		
Total	454074.566	19			

Table 32C. Analysis of variance of percent survival *M. rosenbergii* in the period of 20 weeks.

Source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	139.800	3	46.600	0.140	0.935
Within Groups	5335.200	16	333.450		
Total	5475.000	19			

Table 33C. Analysis of variance of the number of ovigerous female *M. rosenbergii* in the period of 20 weeks.

source	Sum of Squares	df	Mean Square	F	Sig.
Between Groups	32.950	3	10.983	4.625	0.016
Within Groups	38.000	16	2.375		
Total	70.950	19			

Table 34C. Duncan's new multiple range test of the number of ovigerous female M. rosenbergii in the period of 20 weeks.

Treatments		Subset for alpha $= .05$				
	N	a	b	С		
D	5	0.600				
C	5	0.800	0.800	1		
Α	5		2.800	2.800		
В	5	10 0/1/1 1 0	710	3.600		
Sig.		0.840	0.057	0.424		

BIOGRAPHY

Miss Nipaporn Chokchaikasemsuk was born on March 22, 1979 in Saraburi Province. She graduated with a Bachelor degree of Science (Biotechnology) from Mahidol University in 1999. She studied for the Master degree of Science (Biotechnology) at Faculty of Science, Chulalongkorn University since 2003.

